
10/07/2019 

Place Value Lesson 1 1 

To be able to convert between g and kg and m and km 

1,000 g 1,000 g 1,000 g 1,000 g 

1 kg 1 kg 

1,000 m 1,000 m 1,000 m 1,000 m 

1 km 1 km 

To be able to convert between g and kg and m and km 

1,000 m 1,000 m 1,000 m 

1 km 1 km 1 km 

1 kg 1 kg 1 kg  1 kg 1 kg 

1,000 g 1,000 g 1,000 g 1,000 g 1,000 g 

3 km = ______ m  5 kg = ______ g  

To be able to convert between g and kg and m and km 

___ km  

km 

m 

___ km  2 km  ___ km  ___ km  21.5 km 

250 m  1,000 m  _____ m  7,500 m  18,000 m  _____ m  

To be able to convert between g and kg and m and km 

___ km = 16,000 m  

___ kg = 16,000 g  

23,000 m = ___ km 

23,500 g = ___ kg 

14.5 km = ______ m  

______ g = 62.3 kg  

___ km = 300 m  

______ g = 100 kg  

To be able to convert between g and kg and m and km 

𝟏
𝟐  km = _______ m  

𝟏
𝟒  km = _______ m  

𝟑
𝟒  km = _______ m  

𝟏
𝟏𝟎  kg = _______ g  

𝟏
𝟓  kg = _______ g  

𝟕
𝟏𝟎  kg = _______ g  

𝟏
𝟐𝟎  kg = _______ g  

𝟏𝟗
𝟐𝟎  kg = _______ g  

𝟏𝟏
𝟐𝟎  kg = _______ g  

To be able to convert between g and kg and m and km 

0.25 kg 

3.9 km 

6,000 m + 3 km 

𝟑
𝟏𝟎  kg + 𝟕 𝟏𝟎  kg + 985 g  

200 g 

4,200 m 

5.5 km + 3,500 m 

958 g + 1 kg 
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Place Value Lesson 1 2 

To be able to convert between g and kg and m and km To be able to convert between g and kg and m and km 

To be able to convert between g and kg and m and km To be able to convert between g and kg and m and km 

The only way to 

convert between 6 kg 

and equivalent grams 

is to use a bar model. 


